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7.09 Mozre Operétions with Complex Numbers in Polar Form Date:

Powers are the shorthand for repeated Multiplication. How do you think the pattern changes when we
raise a complex number in polar form to an exponent?

For z = r(cosf + isin 0)
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Examples: Find the power of the complex number in p?g form. Answer in both polar form and
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Investigation:
Use multiplication (in rectangular form) or the power rule (in polar form): (—1 +v31)?
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3 What is 8 equivalent to? ‘Plot your answers in the complex plane.
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Can we use DeMoivre’s Theorem (the Power Rule above) to derive a formula for evaluating roots of

/  complex numbers in polar form?

QF"LL- = —ZZ% - (%[(,os(ia@») +(5in (;';9\}
‘ N
¢~ gos (&) tisinl = 5]
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7. (~1+v31)°

Convert each complex number into polar form. Then find all distinct yoots of the complex 'ﬁ +0 A
number. Answer in polar form where 0 <0 < 2. M W Nﬂﬂ ;P} 3 \
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